

نام و نام خانوادگی: ... پاسخنامه تشریحی تکلیف شماره ۲۳ ... کلاس: ...

$$\log_n^m = a \quad \log_{mn}^{m^2n} = b \quad b = \frac{\log_{mn}^{m^2n}}{\log_n^{mn}} = \frac{\log_n^{m^2} + \log_n^n}{\log_n^m + \log_n^n} = \frac{2a+1}{a+1}$$

$$\left[\frac{a+1}{a+1} + \frac{a}{a+1} \right] = 1 + \left[\frac{a}{a+1} \right] = 1$$

الف) $y = \sqrt{\frac{x}{\log \frac{1}{x}}}$ $\frac{x}{\log \frac{1}{x}} \geq 0$ (I) $x \geq 0$ $\log \frac{1}{x} > 0$ $x < 1$ (II) $(I) \cap (II) = (0, 1) = D_f$

ب) $y = \frac{\log(x^2 - x + 1)}{\sqrt{x^2 - 1} + 1}$ $x^2 - x - 2 > 0$ $(x-2)(x+1) > 0$ $x < -1$ or $x > 2$ (I)
 $x^2 - 1 > 0$ $x < -1$ or $x > 1$ (II)
 $(I) \cap (II) = \emptyset$ $(-\infty, -1) \cup (2, +\infty)$

$$2 \log_a^a + \log_a^{\sqrt{a}} = 2 \log_{\frac{a}{\sqrt{a}}}^a + \log_a^{\sqrt{a}} = \log_{\frac{a}{\sqrt{a}}}^a + \log_{\frac{a}{\sqrt{a}}}^{\sqrt{a}} = \log_{\frac{a}{\sqrt{a}}}^a + \frac{1}{\log_{\frac{a}{\sqrt{a}}}^{\sqrt{a}}} = \log_{\frac{a}{\sqrt{a}}}^a + \frac{1}{\log_a^{\sqrt{a}}}$$

$$\log_{\sqrt{a}}^a = 1 \quad \log_a^a = 1 \quad \boxed{a = 4}$$

$$\log 2 = 0.3010 \quad \log 3 = 0.4771 \quad \frac{\sqrt{2}}{|a|} = \frac{(\log 2)^2 + \varepsilon (\log \frac{2}{\sqrt{2}} \times \log 2)}{|\log \frac{2}{\sqrt{2}}|} = \frac{f(\log 2) + \varepsilon (f(\log 2) - (f(\log 2))^2)}{\log 2 - \log \sqrt{2}}$$

$$(\log \frac{2}{\sqrt{2}})^2 + (\log \frac{2}{\sqrt{2}}) - \log 2 = \frac{f(0.3010)^2 + f(0.3010) - 0.3010}{1 - 0.3010 - 0.1732} = \frac{0.0906 + 0.3010 - 0.3010}{0.5278} = \frac{0.0906}{0.5278} \approx 0.1718$$

$$\log_2^2 = 2.18 \quad \log_2^2 = 0.58 \rightarrow \log_2^2 = 2$$

$$\log_{12}^{10} = \frac{1}{\log_{12}^{10}} = \frac{1}{\log_{12}^{\frac{10}{12}}} = \frac{\log_{12}^{10}}{\log_{12}^{\frac{10}{12}}} = \frac{\log_2^{10} + \log_2^{\frac{10}{12}}}{\log_2^2 + \log_2^{\frac{10}{12}}} = \frac{1 + 2}{2.18 + 1} = \frac{3}{3.18}$$

$$\log_{\mu} \omega = 1, 0$$

$$\log_{\mu} \mu = 1, 4$$

$$\log_{\mu} \mu = \log_{\mu} \mu$$

$$\log_{\mu} \omega = \frac{\log_{\mu} \omega}{\log_{\mu} \mu} = \frac{\log_{\mu} \omega + \log_{\mu} \mu}{\log_{\mu} \mu + \log_{\mu} \mu} = \frac{1 + 1, 4}{1, 4}$$

$$\log_{\mu} \omega = m = \frac{1}{\mu} \log_{\mu} \omega = \frac{1}{\mu} (\log_{\mu} \omega + \log_{\mu} \mu) = \frac{1}{\mu} (1 + \log_{\mu} \mu) = \frac{1}{\mu} + \frac{1}{\mu} \log_{\mu} \mu = m$$

$$\log_{\mu} \mu = m - \frac{1}{\mu} \quad \log_{\mu} \mu = \frac{m-1}{\mu}$$

$$\log_{\mu} \mu = \frac{1}{\mu} \log_{\mu} \mu = \frac{1}{\mu} (\log_{\mu} \mu + \log_{\mu} \mu) = \frac{1}{\mu} (1 + \frac{m-1}{\mu}) = \frac{1 + \frac{m-1}{\mu}}{\mu}$$

$$(\frac{\omega}{\mu})^{r-1} = (\frac{\omega}{\mu})^{r-1} \rightarrow (\frac{\omega}{\mu})^{-1 \times (r-1)} = (\frac{\omega}{\mu})^{r-1}$$

$$1 - r = r \rightarrow r + r - 1 = 0 \rightarrow r = \frac{1}{2}$$

$$\log_{\mu} \omega = \log_{\mu} \omega = \log_{\mu} \omega$$

$$\Rightarrow \log_{\mu} \omega = \frac{1}{\mu} \log_{\mu} \omega = \frac{1}{\mu}$$

$$\log_{\mu} \omega = a \quad \log_{\mu} \omega = \frac{1}{\mu} \log_{\mu} \omega = \frac{1}{\mu} (1 + a) \quad \log_{\mu} \omega = r + ra = \log_{\mu} \omega + \log_{\mu} \omega$$

$$\log_{\mu} (\mu \times \omega) = \log_{\mu} \mu = \log_{\mu} \mu = \log_{\mu} \mu$$

$$- \epsilon a r + b r + \frac{1}{\mu} c = 0$$

$$\frac{-ra}{-b} = \frac{ra}{b} = \log_{\mu} \omega = \log_{\mu} \omega \quad \frac{ra}{b} = \log_{\mu} \omega \quad b = \frac{ra}{\log_{\mu} \omega} \quad a = \frac{b+c}{r}$$